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QUESTION 1

Which command lists the disks in a disk group that contain a copy of the configuration database?
A. vxdisk listconfig

B. vxdg listconfig [diskgroup]

C. vxdisk list

D. vxdg list [diskgroup]

Correct Answer: D

QUESTION 2

Which three are options for invalid recipient handling? (Select three.)
A. Reject invalid recipients

B. Accept all recipients

C. Drop invalid recipients

D. Quarantine invalid recipients

Correct Answer. ABC

QUESTION 3

A disk group with four disks contains a two-column striped and mirrored volume.

Which step must be performed first to change the volume to have three columns without losing the redundancy?

A. use the vxassist command to relayout the volume

B. use the vxrelayout command to relayout the volume

C. use the vxassist command to convert the volume

D. use the vxdg command to add two disks to the disk group

Correct Answer: D

QUESTION 4
What are the advantages of layered volumes? (Choose two.)

A. Faster recovery time
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B. Use of more VM objects
C. Better write performance
D. Higher resiliency

E. Less disk space usage

Correct Answer: AD

QUESTION 5

Which two statements are true about an online relayout operation? (Select two.)
A. It can create a snapshot.

B. Log plexes remain unchanged.

C. The number of mirrors can be changed.

D. It can be performed on a sparse plex.

E. It can be reversed at any time.

Correct Answer: BE
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